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Verwandle die Brüche in Dezimalzahlen.

   1              17              5               13
  1— = 1,2        —— = 4,25       — = 1,25        —— = 6,5
   5              4               4               2

 11                1              13               13
 —— = 5,5         7— = 7,5        —— = 3,25        —— = 2,6
 2                 2              4                5

 11                1              16                6
 —— = 5,5         1— = 1,125      —— = 3,2          — = 1,2
 2                 8              5                 5

 7                3              19               19
 — = 1,4         2— = 2,6        —— = 2,375       —— = 2,375
 5                5              8                8

 9                3              9               13
 — = 1,125       3— = 3,75       — = 4,5         —— = 1,625
 8                4              2               8

  4                11                1               8
  —— = 0,16        —— = 0,55        6— = 6,25        —— = 0,32
  25               20                4               25

  9                 3               16               39
  —— = 0,45        7— = 7,75        —— = 0,64        —— = 9,75
  20                4               25               4

   3              13             23               39
  2— = 2,75       —— = 1,625     —— = 1,15        —— = 0,78
   4              8              20               50

  13               13               7                33
  —— = 0,52        —— = 0,26        —— = 0,28        —— = 8,25
  25               50               25               4

  11              25               14               12
  —— = 0,55       —— = 6,25        —— = 0,56        —— = 0,48 
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